__ 01010 "HJ{eB-M'OEaJ.ITC 10"
MHKBOJAHCT N OF BCAYIQUXMHPOBBIX
,/ﬂp(’mmozmTeJlen N




MIKPOPE3bBOMPE3bI

ObPABATBIBAEMBIE MATEPUAJTBI:

000 "NMHeemoBbanTtCHab"
www.pnbs.ru info@pnbs.ru
+7(812)640-22-71 +7(921)926-26-71

B0 @

lTAPAMETPbI:
il z2] 20

SEPHUCTBIH

TB. CMAAB
(TaHaapTHaA ANHa

.‘A .t = 0 . :

MO0.5x0.125 | 0.30 2 3 38 1.0
MO0.6x0.15 0.37 2 3 38 1.0
MO0.7x0.175 | 0.45 2 3 38 2.0
MO0.8x0.20 0.51 2 3 38 2.0
MO0.9x0.25 0.58 2 3 38 2.0
M1.0x0.25 0.65 2 3 38 5.0
M1.1x0.25 0.75 4 3 38 5.0
M1.2x0.25 0.85 4 3 38 5.0
M1.4x0.30 1.00 4 3 38 5.0
M1.6x0.35 1.15 4 3 38 7.0
M1.8x0.35 1.35 4 3 38 7.0
M2.0x0.40 1.50 4 3 38 7.0
M?2.5x0.45 1.95 4 4 50 9.4
M3x0.5 2.40 4 4 50 9.4
M3.5x0.6 2.80 4 4 50 9.4
M4x0.7 3.10 4 6 64 12.7
M5x0.8 3.85 4 6 64 12.7
M6x1 4.65 4 6 64 12.7
M8x1.25 5.95 4 6 64 12.7




000 "MNMueemoBbanTCHab"

www.pnbs.ru info@pnbs.ru
M M KPOI—PA BEPbI +7(812)640-22-71 +7(921)926-26-71

2-X [IEPHEBbBIE MUKPOTPABEPDI
[NAPAMETPbI: OBbPABATbBIBAEMbIE MATEPUATBI:

MEAKO ( | (T S0 e . ) @R " hic )
w22 ) Gy o B T L) S D

(TaHpapTHas AvHa
P —-r 1.27mm
A(°) d(:;m) L (mm) ,/
30 S 38
60 3 38
90 83 38
L
Topel rpaBepa
o =dig

[PABEPbI CY/IMHEHHOW JIbICKOW (NOJTOBUHA OKPYXHOCTH)
[NAPAMETPbI: OBbPABATbHIBAEMbIE MATEPAJTBI:

MEAKO ([ MEAHbIF (e .
]zt wernt f g AT ™ BRI

CTaHﬂapTHaﬂ ONNHa

0.25 2.40 3 38 !
0.30 2.75 3 38 \
0.35 3.10 3 38 ’
0.40 3.45 3 | 38 L1
0.45 3.80 3 38 |
0.50 4.75 3 38

0.60 550 3 | 38 ]
0.70 6.25 3 38 ‘
0.80 7.00 3 38

OLHOCTOPOHWME MIIKPOTPABEPbI
NNAPAMETPDI: OBbPABATBIBAEMbIE MATEPUAITDI:

mEAKo . (T (@R T 1
w22 e G L e T

(taHgapTHaa anuHa
Ae) |9 (r']';’") L (mm)
30 8 38
45 3 38
60 3 38
90 3 38 L
118 3 38 Topey rpaeepa




